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FHZIH <h! TRITE, FEehd H Teh ehiddl o &9 H ford shfar g Ao off & sormeene § e

Y 9T 3Afend fopam mm e 2

ERA

Prashasti of Samudragupta in the form of a poem in Sanskrit was composed by which
poet that was inscribed on the Ashokan pillar at Allahabad ?

Harishena

Raet @™ feoett 1 3moes o, fF=feiRad o & forg Trotas & gt o 2
Beg T

Khizr Khan was a ruler of Delhi, belonged to which of the following dynasties ?
Sayyid Dynasty

HicTehTal ferd wid farferam shicist bl ST 99 1800 T ferdeh g < 18 off 2
LEEERERI

By whom the Fort William College located at Kolkata was founded in year 1800 ?
Richard Wellesley

o [aNEaN

T WA H I7g foraT T 98l vl e FefaRga d g swma ar e 2
g

Which of the following was the first Harappan site excavated in Independent India ?

Ropar

TETe it 3T 3ok TR <t frend &8 vranfeeart e Hiftges &9 & o gt @ | 3%
AT 1500 99 Uget foran o | gau 4 o feferiaa O 9 form worm w 3ueTey & ¢
e Hll, TR

The teachings of Mahavira and his followers were transmitted orally for several
centuries, they were written down about 1500 years ago, presently those are available at

which of the following places ?
Valabhi, Gujarat
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6. YRAT TFH e i FrferRad srenati ot 3ok afed B o a9 o fierd
(i) SRESe 4 fopam g (2) 1921

(i) HeTeAT el 4 e - (b) 1918

1A <
(iii) TEST 9 TS TETT - (c) 1946
& fopa
(iv) 3fewemETe H faet worgl (d) 1928
sl gedTel
Match the following events of the Indian National Movement with the year they had
taken place :
(i) Peasant movement in (a) 1921
Bardoli
(i) Mahatma Gandhi visited (b) 1918
Noakhali

(iii)) Gandhiji began wearing (c) 1946
a loincloth

(iv) Mill workers strike in ~ (d) 1928
Ahmedabad

(D)-(d), (iD)-(c), (iii)-(a), (iv)-(b)

7.  WRd GHR IAMEE, 1935 9RA o T ferfest Twe gra aiita dee oen sttaf=m o | g
Y Y UG =M, 95d a1 B o 0T, G STHT- 31T Atafmt § fawrfora foram m
T SFYT WA TR Aff=m, 1935 3R |

o1 TehR Iffem, 1935

The Government of India Act, 1935 was the longest Act passed by the British
Parliament for India. The Act originally passed, being very lengthy, was divided into
two separate acts namely, the Government of India Act, 1935 and

Government of Burma Act, 1935

8. SISl o TIWTSH 9 QU WA § @R bl Shiferd st feam o 37 Seet 37y (379 o &) §
el JTErer g3t U1, 38 frferfiaa O | ford 8 | ST ST o1 2
FCHTAW TG
The partition of Bengal infuriated people all over India and Swadeshi Movement had
taken place in deltaic Andhra, it was known by which of the following names ?

Vandemataram Movement
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9. a¥ 1922 § THEAN STIei i Halferd hid o aTg TTefisf i 3TgHemEe ¥ iR e forn
TR 3T feh Tt o TTERUT SHIRTETE hY |l FATS 75 2
£
After suspending the Non-Cooperation movement in the year 1922, Gandhiji was
arrested at Ahmedabad and sentenced to simple imprisonment for how many years ?
Six
10. 13 SH, 1943 ! guTYEg 99 Fefciiaa § @ fergeh fwsor o geff wfdm s 9 2
TEfaR S
Subhash Chandra Bose had come to East Asia on an invitation from which of the
following on June 13, 1943 ?
Rasbihari Bose
11. TEHTETT 1 S &1 WA AT gRI ol =it srfed aofse 4 s 8 2
Rrenferes goft ()
Which part of the Himalayas is composed of unconsolidated sediments brought down
by rivers ?
The Shiwalik Range
12. T=faRea @ @ form o (SI1=) e ot gt ST & 2
ferse
Which of the following is also called “Brown Coal” ?
Lignite
13. Tt o pont TR =gl <l STl o S ol T TAH I H W BIGT |, 59 W ohl S
HEAT &
ERKIREINCILEC )
All the space between particles of soil and gaps between rocks are filled with water, the
upper limit of this layer is called :
Water Table
14.  3TA-FH1 T ST HiE| Jomedt & S & A F 91 91 § U aR femrE <t 7 | T8t <ot -

F STec T AT G B 2
el THIE (TTEeS h1EE)

El-Nino is the complex weather system that appears once every three to seven years.
Here what is the meaning of the word EI-Nino ?

Child Christ
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15. Trfafaa @ @ fora Wam 5 250 Hiex (820 i) T Il S 10 o el & X geall et
e o1 o8 s afafga a9 8 2
W 3 Gl W

Which of the following desert contains large sand dunes up to 250 metres (820 feet)
high and the largest contiguous area of sandy desert on Earth ?

The Rub al Khali Desert

16. WA § TR &1 ggen fata yeen &9 (S shal wurfud femam mm e 2

hlSdl, TSIUd
Where was the first Export Processing Zone (EPZ) of Asia set up in India ?
Kandla, Gujarat

17. T=ONT ST o ol Ehio 1 3239 WA 3TeT H dsfl T, UsHTR o 3T SGH]
3N W, S 3T IATGHAT T ETH higd Hid FU IATEHhAT SGHT AT 37 98 Fgd T
REI I
qraai

Which edition of the Five-Year Plan aimed at accelerating food grain production,
increasing employment opportunities & raising productivity with focus on ‘food, work
& productivity’ and that was very successful ?

Seventh

18. f=fefiga 4 9 g vt snfdies feisa o S 9 2
. fevavatan

Who among the following was “the father of Indian Economic planning” ?
M. Visvesvaraya

19. 39 98 TOT % QRH, ATIE FAS 7 WA o 18 Y@ GRS Sl YR o IR THE@
TEFTHIT &0 H SUFIRRI3T 6 |19 Siel | Fefafgd 9 @ =i 91 w8t 39 AT =1 e
BRI,

SR

During its first phase, Operation Flood linked 18 of India’s premier milksheds with
consumers in India’s four major metropolitan cities. Which of the following cities was
not the part of this operation ?

Bengaluru

20. Segdt At H € yg@ fadr fee % ety yarg  srgafa ot 2 3 sifam snirer
T h SISl i T Il g ?
TITI-JATEE L
Which salient feature of GST allows the seamless flow of credits and reduces the tax
burden on the end consumer ?

Destination-based Tax
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21.

et § & fopm TToet W 3okl Sheld TIUTHEA & 9 i §H i 9 7, 9
JTERTE WAl o T T STHT ST 3 2

TR BT

On which of the following matters Union Legislature alone has the power to legislate that is
known as Residuary Powers ?

Cyber Laws

22.

A A o TH T T 3R iF A 2
SRR}

Who was the first Chief Election Commissioner of Independent India ?
Sukumar Sen

23.

o uTiefies srfafm, 1976 % fpm e (Iex) § ey 3T Afgen sifiepl s a0m et
TR qTRETHER T TAH 3T 31 HIH IMHA & 2
T 11

Which chapter of the Equal Remuneration Act, 1976 contains payment of remuneration at
equal rates to men and women workers and other matters ?

Chapter 11

24.

IR G < fohd 31g=ee | I8 e g T “Tsaaret e |91 St Feifed o end
2 ; TSI T bl G U Tehd & 7

IFE 175

Which article of the Indian Constitution includes that “The Governor may address the
Legislative Assembly; the Governor may send messages to the House” ?

Article 175

25.

frefafaa o @ = e 3K sefivey el 3 3= AR & e, R 3t
AT < fIeR0T 1 Ueh AT S2H YeH T & 2
T =nfes 21 fire

Which of the following provides a comprehensive database of orders, judgements and
case details of District and Subordinate Courts and High Courts ?

National Judicial Data Grid

26.

o

freferfad O 9 forg STHer 1 1=l aig § foenfia St gagt aa g1 g 2
R

Which of the following animals possesses a well-developed water vascular system ?
Starfish
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27.

Toref) =meren o1 wferiy f=ferfiga o @ forg s e fasit adf shean 2 2
ATAeh <hl JTgan

The resistance of a conductor does not depend on which of the following factors ?
Humidity of the conductor

28.

&= 341 A fefefiga 3 9 %k 91 st g S g 2
TR TE

Which of the following acids is found in Unripe Mangoes ?
Tartaric Acid

29.

FfcRad o & Tord IuhTT ShT ST YfHTA STt GETe bl WA 3TR STet TUTerdT 9ieoT < forg
Tt BT T o % fote fepam ST 2 2
disifiet

Which of the following instruments is used to measure underground water pressure and
to take water sample for water quality testing ?

Piezometer

30.

A HIETsh H gl =04 o S o 37t i (EfaRad ® & fohd T19 & ST 5111 & 2

o

The gap between two neurons in the Human Brain is known by which of the following
name ?

Synapse

31.

freterfiaa = 2 Td HIfTT -

Find the sum of the following :
1 1 1 1 1 1 1
+

1.1.r — et —t—+—
6 12 20 30 42 56 72
1
2

32.

™) () |_
x%mm%m,w{legg}lw%?

For what value of x, statement @ X@ =1 is correct ?
’ 21 189 '

63

33.

B1)1 x 375 x 39 x (64)56 x 3/3)0=2
288
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34.

(0.0203 x 2.92) / (0.0073 x 14.5x 0.7) = ?
0.8

35S.

AT <ht T |, 3GehT g 55 Tehetium & 31feres wifer 62 foretiomm & om 2 | Tfian bt ot et
T TgAd 8 2 3TN 98 it & fob wfar o1 a9m 50 frerium & 3Afees wifeha 60 feretome &
Y 2 | 3Heh WIS I AFHT & T ITehT oo 58 Tohetitm | STeT &1 & Tehel | Afe o Tt
39 STAH § w2 E,  1fan 3 it gwrfera i 1 sfea = g 2

57 fepetiom

In Geeta’s opinion, her weight is greater than 55 kg but less than 62 kg. Geeta’s mother
does not agree with Geeta and she thinks that Geeta’s weight is greater than 50 kg but less
than 60 kg. Her brother’s view is that her weight can’t be greater than 58 kg. If all of them
are correct in their estimation, what is the average of different probable weights of Geeta ?

57 kg

36.

TUq + =01 < I | A 91 976G ST 2
fafr=e

37.

e 4 9 form foemea 0 aaft wise <o} sree o wartwer=h 8 2
gfiar, afeft, e

38.

frerforiaa 4 & fore forrea o sermsr & Toiq we viee wE1 781 2 2
RtmH T - FF

39.

GT < BT A AT — YT T AT A1 2
wgd 1 3BT |

40.

o o 0

ffIRad o & TATRR 3R 3eh! ToHT o 3TTHR hiF |1 I TTeTd § 2
SRR TG — AT

41.

A person who has an obsessive wish to steal.
kleptomaniac

42.

Fill in the blank with correct preposition :
Virat plays Cricket Football.
besides

43.

Put the correct article :
President of the United States will be in Bharat next week.
The
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Read the following paragraph and answer the following questions : (Q. 44 and 45)

The State Emblem is an adaptation of the Lion Capital of Asoka at Sarnath. In the original,
there are four lions, mounted back-to-back, on a circular abacus, which itself rests on a bell-
shaped lotus. The frieze of the abacus has sculptures in high relief of an elephant, a galloping
horse, a bull and a lion separated by intervening Dharma Chakras. The profile of the Lion
Capital showing three lions mounted on the abacus with a Dharma Chakra in the centre, a
bull on the right and a galloping horse on the left, and outlines of Dharma Chakras on the
extreme right and left was adopted as the State Emblem of India on January 26, 1950. The
bell-shaped lotus was omitted. The motto Satyameva Jayate, which means ‘Truth Alone
Triumphs’, written in Devanagari script below the profile of the Lion Capital is part of the
State Emblem of India.

44. Which of the following animals is not included in national emblem ?
Tiger

45. What is in the centre of national emblem ?
Dharma Chakra

46. 10:25 9 Tt I AT & s wferaret pivT B

The reflex angle between the hands of a clock at 10:25 is
197%

4. THANEE R
Pick the odd one out :
161, 207, 299, 347

48. UZE S U Uk § I fe i 3T @ ek WS & | W, T o Feheam o 31 7 3R
¢ BR Y 3134 TH W 7 | foel G- B 8 g TIH W 7 | FefcTRad semi 5 8 %H |1
ERECEN

ISR IR R—E R |

Fifteen children are standing in a row facing north. Saurav is to the immediate left of
Radha and is eighth from the left end. Bimal is second from the right end. Which of the
following statements is not true ?

Bimal is 13™ from the left end.

49. =FE TG T T &, TA BT ¥ 91 7 | TR SR e 1 78 7, <ifer Tea § e
2, IcTehId Td FTaT1 511 76l 7, He BRI a1 g 2

EACAG]|

Chennai is bigger than Jaipur, Surat is bigger than Kolkata. Raipur is not as big as
Jaipur, but is bigger than Surat, Kolkata is not as big as Surat, which is the smallest ?

Kolkata
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50.

3G YT H S hYF [ 3T 11 feu T 8 | A HoH A1 a1 T R &l Hehd & AT Tl hROT I1

HTHT= 10T < TWTE &l ehel & | $9H & Teh heH QUL He 1 THIE Bl Hohdl & | QI HeHT

1 Ue 3R faula o fop F=feifiaa & 9 s 91 Sor faeshea 39 a1 el & o= & 99y <l

T T A TR |

%Yq :

I O faam 3 v s S 6 S o g &5l H HHE o SR W STt 8 ot sk
fora @ |

II. TR A TR STgETa S gfg & i Uael & STAM & & 8 Ha HL e g |
Ife Gt Y 1 3T 11 T v o 99 § |

In this question two statements I and II are given. These statements may be either

independent causes or may be effects of independent causes or a common cause. One

of these statements may be the effect of the other statement. Read both the statements

and decide which of the following answer choice correctly depicts the relationship

between these two statements.

Statements :

I. The Meteorological Department has issued a statement mentioning deficient
rainfall during monsoon in many parts of the country.

II. The Government has lowered the revised estimated GDP growth from the level of
earlier estimates.

If both the statements I and II are effects of independent causes.

S1.

AT TER WA 9 (e YHeH hiaReM 31 siean) F freforiea o & fopd wom @
TeATeel fhadeh He—2023 H UPI T shise W18 ol JHTER0l foham & 7
National Payments Corporation of India (NPCI) has unveiled Credit Line on UPI at
the Global Fintech Fest-2023 at which of the following places 7

Mumbai

52.

7Tl & °, 31Rget vt e qumm &1 STRiSH WRd 3R & (feiRad d & forg wmer
g TR R o 7
e wamer 3R vt fesprer 3R ST we™

Recently, Akhil Bharatiya Shiksha Samagam had been organized by which of the following
ministries of Government of India ?

Ministry of Education and Ministry of Skill Development & Entrepreneurship
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53. Trafofaa ° @ fpoa gt € 0 S =61 aredfaes 999 | 91¢ &1 @AM YgH H & forg
Teh IS UAlehSM “ToAga i Al shl § 7
ot Fferet Sgq
Who among the following has recently launched a mobile application “Floodwatch” to provide
Real-Time Flood Forecasts to Public ?
Shri Kushvinder Vohra

54. 7 & H, Tgufd gt gy 9 TetEe % fehe afofaa § @ e wem w mgrem i i
T 3T TR o 2 7
witeft g2
Recently, President Draupadi Murmu has unveiled Mahatma Gandhi’s statue at which of the

following places near Rajghat ?
Gandhi Darshan

55. el g H, W1 USeh We (S13ARa) 3 G e o HUs g hi Hod e HISL a6
=AM AT Fgeh T o 31& fokn 7 | Frefafad 3 @ aqam § fave 6t ge@ 3=h diet are
AT I Gk hHET S ?
Sufeer gu
Recently, Border Roads Organisation (BRO) has commenced the construction of the

World’s Highest Motorable Road close to eastern Ladakh. Which of the following is
the World’s Highest Motorable Road presently ?

Umlingla Pass

o

56. Tforfiaa o @ form Traa 3 BTt €1 W Ushotod U STHY Tag HRIsHT Ai-d T g ?
e ot giafidl, feeett

Which of the following organization has recently launched Eklavya — A Research
Affiliate Programme ?

The National Law University, Delhi

57. TmfaRad 4 & ford g1 & H AfTaQ, Ul § SR HIeHIg-hicT Hiled Haad o
I T T g3 © 7
. WY TE1G TR

Who among the following has recently received “Yashaswi Samman” at Kathmandu-
Kalinga Literary Festival organised at Lalitpur, Nepal ?

Dr. Madhav Prasad Pokhrel

58. frferfiad § @ % @1 <w 81 81 4 fse (BRICS) T =1 G A& ST @ 7
&Sl

Which of the following countries has not become recent new member of BRICS ?
Cuba

KM3_8740 10



59, Sk 3% SIS BTt &1 H ICCR H MMt 8311 &, ICCR &1 QU €T T8 ?
ST B I shrse Raifén
The Bank of Israel has recently joined the ICCR, what is the full form of ICCR ?
International Committee on Credit Reporting
60. TSal 3T "y A freferfea o & fopm worm W gferor g wfirn & 85 3 wgam < |fyr
(S1uH) T it 819 o cidres W g&der fhu @ ?
ST, TSR
The Kingdom of Saudi Arabia has signed the Instrument of Accession to the Treaty of
Amity and Cooperation in Southeast Asia (TAC) at which of the following places ?
Jakarta, Indonesia
61. 39 & 1 91 SATE ST WRA § Thell /Hicisll § BT o S s=d hl 3TEd I ST ¢
o st e 15 Tas H TR S R |
BEIRERECE]
Name the day that is celebrated every year on 15" September in India to promote the
habit of thrift among the students in schools/colleges.
Sanchayika Day
62. W % Tacl (AT Y e hi SITeehTiEh W Fefciaq H A A & & ?
IS
Which of the following is the official language of India’s first planned modern city ?
English
63. TrafaRea o & frod gafea Tshum 3gTET 8, 919 WA o UFAfd 3 3191 et 31 &1
ST e ?
AR STher (Fed) Tt
The only instance when the President of India exercised his power of veto related to
which of the following ?
Indian Post-Office (Amendment) Bill
64. TS TEETRS w19 FHHETiad | | fohd ©e1 | 3TTeiiUsh Teeh Siia- aTet Tael WA &

g7
Eadl

Khashaba Dadasaheb Jadhav had become the first Indian to win an Olympic medal in
which of the following sports ?

Wrestling
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65. Uit fraiaes <ot = TTa (3TIUeh) <hl TATYAT & foTt e hal 531 o1 7
RN
Where the conference for establishment of the Organisation of the Petroleum Exporting
Countries (OPEC) had taken place ?
Baghdad
66. Tre=fcTiaa § § fopg MR Tl ST 5 “fecd BR Hoh-hoal” T &b foat ot ?
ATAT AT
Which one of the following Indian Freedom Fighter had written a book named “Hints
for Self-Culture” ?
Lala Har Dayal
67. I TASHEH 1 AT FdTSU S SE1 W bl fae TEETR € Siedl ¢ |
ST SITSHEHE
Give name of the strait which connects the Java sea to the Indian ocean.
Strait of Sunda
68. MY T % STHR, GO Ui il TWadl TR UG b st ol YU % A |
SICISICININ
ERCE]
According to Rishi Manu, the tract between the old sacred rivers Sarswati and
Drishdvati was known as .
Brahmavarta
69. UEH Tz -fosH TEIM (NIO) 1 e fFreferlad & fha s m g 7
ST Y, e
The National Institute of Oceanography (NIO) is having its headquarters at which of
the following places ?
Dona Paula, Goa
70. TSHIA < BITRCY &F H AR W U i TG & €9 H hadt T gy 47 T fyfa
o= (Wall Murals) uT fFI ST & | gl “fuehr st G0 2l
3T % qaal
Wall Murals only painted by Men commonly in the Chhotaudepur area of Gujarat as
offerings to Pithora. Here, “Pithora” means
God of Food Grains

KM3_8740 12




FrfoTRaa T st Ugeht I8 T SRHT % ST ERT : (3. 71-75)

I Torelt oft safeh o1 we@ 37eTT weh 21g T aXE ST T e T8 T B | 9Ra ° fafe ge it
faforer Aa-HATaXl 6 <A W1Y-91Y & T8 & | U H I8 Al S 81 T @ foh A weh-gEt
T 3Th! LAl ohl, STh! TTIISI- AT hl THY 3¢ A8 & N ITeh GTiHeh {IvaTal,
ugfral, STEHI Sl TH § | YR S8 <9 § I8 37N oft 31feres & 7, HAifp Tg o foneht U o,
Ha A1 TR 61 T8l & | T fadehg 36 oTd ol gHeid ¥ 3R 310 STER-foem 8§ 3 g 8
Tgd M I | IH1 g Ha A1 Top Tl emi-vvert & ffw garg g & =few | 9 fafvm omi-
HYCTAT <h! &I hl TS I Tl AFd o | Tt St fafte enfifes smeenst & <=
TSR T i & TeTer & 3 aeft 61 U & o <1 AR M o fokg U | A ET B 9,
“gfe aeft we Teh B e ol W o, Teh B YST-UgHd <l 31U of 3TR Th—} AfcrehdT T ST
T T, A IT T IO STd R, ik Ig T AR GTiies 3R STefcies faeE o fog
SITUTEITe BT T2 BH BHIKI |Gkl el 8 Sic oM’ | g1 |l e -ayeE-ve-fa=mi = @ ol
3R 3T Toameamuatt 3R IUTEHT Ugiadi ol 3fua o <1 =it | ford oft =afvr <l =g =8
Topeft STfa- 4w STR 9T & TFafea 2, Yol - M SR 8 | 99t T o Uh &) OReTed] Sl a9 8 |
STes forepr <6l 3fY | S frser & wehar & | Af IS Treer g1 & a1 38 3 WY o oF 9

o o
HiAd AT R dddl% |

71, TTRITY % STTER gH-TEIEr < forsR # foeshg o1 femm o foh
ot o T 2 SR - TreRI shi STHERETAT SR 3TN T 2 |

72. BN Uit 37 Areanfciens faehre o foTQ s rorerass grm ?
ARG S8 ex § fortl weh & Rl 1o |

73. O e g 3adt g ?

e Tl i wgr e Smar # |

74. 3meATfcHeR’ S1eg H SHUST: IUEHT, Gt I6g IR YT & ?
AT + ATH +Th

75. At foeehe 38 ST Sl FHIA o 3R 9 ITER-fomm ¥ 310 99 ¥ §gd W o 1’
EIEREAREI e

TIH a1
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FrforRaa TTersT st Ugeht I8 T SRHT % ST ST : (3. 76-80)

30 T ST o I § ER-TMT- A1fteR 3R wraer bt 31T A8 8§ | et st ferediof
A T A AR ¥ 9 IS 7 | STTERIRAT &, $Hh 981 hl TN Ire ITeTd] o a1 58
Hehed 3TN AT8d hl | Gl o X frem™ 9TiaT o R0 &1 Ot aged shedldl & | 369 90 T
TEH 9Tl B AN WET A & foh I arar § i g M edefl Mo o A ot 2 | 99 &
AT T haet YTETE B TR AHL hid &, df 89 o1& hl Y & fou snfaa woe T8
A | TIH o IS § el i T2 fietdr 3 T Wi &1 €19 <d Td 2 | U8 WrEEre! | oh
SR HHT ST & | 375hd TPIeT af 351 1 et dehdt & S qU Hehed o |19 1 H Jad &1 | S
3 1 IF ueft I 99 T Ireft 3@ T oT, I YRR S Aed b gfd Uiy g dad
TT3fieT T B, TH o URUTeh o H1Y 3T & i U H %6 B A1l g | W AN S 9T
TER 93 T & 3R wefien id wa & fop areft stmen it fom-firm aref 161 %1 gR % goa B, 3%
IS FEBAT T AT 319 = AR ferar fe@s e 8, 9 9 ISd@1 i & {6 3=F =99 &
o e fean | 7S % ure el S Ut o oY et Bl 7, T ShE 3 UTT S 349 fote Fgul-
fAuirIfeR, 3¢ Hehed TR TUTeTd TS SATeRae 8 | %8 IR 7163  UhaH GHIY Tgd L gH T
D BT ol & I A 1 A 2 & | 3y et 618 ar%q a1 ot Bt €1 72T B 3 2 afiem < =
o T1Y fieteht W <) =Tl hH HEdl B | W T 37ehed! TSl AheTdl o dTet Shi el Wit Tehl |
THfoTT el Jereliere A al & — TR T L Th TR | ¢d ¢ SATeret g ||

76. e BH 3791 I Sharel YIS hl 3TN AT hid @ dd &1 Bidl @ ?

Y &Y <h! TIfEr ok Toqu Uiy st € hid & 3R SEwa aa @ |

77.  Shaa d 9 o1 %o forEent feran @ 7
N iz <hY reft % G 9 <) et et dwetdn 1 areTl @i 1 T A E |

78. T H SRR fhEsh AT TR ?

I IR TS QST W T A |

79.  H i i ST QY ¢d WA @ ?
I YT o F9E H el 7 I T S R0 S99 Sl 9gET @iSd § |

80. Ui’ Srec hiH € SATHIVH THTS @ ?
EeE ||
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(. 81-85) : fFreferiiaa o fafra SR grT 6/l 9O 03 § oI aTel |9 <l Il §

(Q. 81-85) : The following graph shows the time taken by different people to complete the work :

25
20

20 ;
5 /\ 16
15— "
~u/ N
10

TN wwa dEE W@ LES)
Rakesh Chaman Axay Ramesh Mahesh

81. afg 3 Tft weh A1 Rl i A1 T B YU H H Het a1 THT S 7
80/29 f&7
What is the total time taken to complete the work if all of them work together 7
80/29 days
82. To=ferfiaa o @ v o1 Tug ™ &l qU i H =FaH THI AT 8 ?
T SR @
Which of the following groups take minimum time to complete the work ?
Chaman and Ramesh
83. TIET, Shelly | I I & 3TN o g1 T 3T & o hd & fofa o | 90 3R
3187 THCToht htd & | SheTTeT SATRRTd 9 & i ol feba fei § QU X TehalT & 7
20 e
Sneha is twice as efficient as Kailash and together they do the same work in as much
time as taken by Chaman and Axay together. In how many days Kailash can complete
the work individually ?
20 days
84. 5 Terl 7o T T o T TERS T 15 IS 1T & | Al o 99 1 bl 5 37 fei § @ vt

&, Tl 3187 37ehet feha Tl o el qU X ThaT © 7

15 fe

After working for 5 days Rakesh is joined by Axay. If they complete the remaining work in 5
more days, in how many days can Axay alone complete the work ?

15 days
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85. = 31 37eF 3 TYH ¥ A W IE R | F Tl o furfew oft 379 T snfirer & manm aik
39 e 3 9t 7 5 T H g0 v U L fora | 7 |t o6l et feteht 7 3,000 1 A feha
I | Tefet e feea feram @ 2
Chaman and Axay started the work jointly. A few days later Mihir also joined them and thus

all of them completed the whole work in 5 days. All of them were paid total ¥ 3,000. What is
the share of Mihir ?

3750

(I. 86-90) : feam T R T ferfirer i A @It (%) H URA, BRI 916 o AN g
TR iRt o1 TdTd ST 2 | TR U ohi 318 i 3 Fferfaa wei o 3 &
(Q. 86-90) : Given bar graph shows the percentage of jobs held by peoples of India, Afghanistan

and Nepal in the Gulf over the different years. Study the bar graph and answer the following
questions :

70
60575

50 :
10 o : o]
30
20
10

e o

2018 2019 2020 2021 2022
[ wwa/ India ] smmi~wam/Afghanistan [ J9@/Nepal

86. G I 2018 37X 2021 H el T ATST oI SARBAT T IUTT 3:5 & 3T 2021 & Wi
(7o) H el URART 4400 &, 1 I 2018 H WL (TTe) H 9T o Pl A T Tl Y |

If the ratio of the total persons who are doing their jobs in the year 2018 and 2021 is
3:5 and the total Indians in the Gulf in 2021 are 4400, then find the total Nepal people
in the year 2018 in Gulf.

1680
87. afgad 2019 ¥ WIEl (7o) § ot YRR hT T Y 2022 H WIS (6% ) H STHMEdH
% el AT o SIS &, 1 Falerd au1 H W (et ) T 9T o AT b1 ST 1A <hITTg |
If total Indians in Gulf in the year 2019 are equal to the total Afghanistan people in

Gulf in the year 2022, then find the ratio of Nepal people in Gulf in the respective
years.

1:5
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88.

Ifg 2020 H FoT SAfH 2021 T FHet U1 AT b A TAT & 3R T 2020 H FoT qRAT 5775
&, @1 1 i o 99 2020 § FoT R 99 2021 H Hot et AR & feba wferera 31t
2 |

If total persons in 2020 are three times the total Nepal people in 2021 and also the total

Indians in the year 2020 are 5775, then find that the total Indians in the year 2020 are
how much percent more than the total Nepal people in the year 2021.

5%

89.

Ife a9 2018 H FAHMAEAH & oI NN hl T 2340 & R a9 2018 37 2019 H
JTHIIREAT o AT ST ST 45:88 7, < 9¥ 2018 37X 2019 T fireret @it (71e%)
it 1 ot H T T |

If the total Afghanistan people in the year 2018 are 2340 and ratio of Afghanistan

people in the years 2018 and 2019 is 45:88, then find the total number of persons in the
Gulf in the years 2018 and 2019 together.

20800

90.

Ifg 2018 & 2022 ek Tt fou ¢t & ot kRl T A 2:3:3:4: 5%, A 2018 W

2022 deh gt feu e ant § @rEt (e ) H et WA ST ST 377 e |

If ratio of total persons in all the given years from 2018 to 2022 is 2 : 3: 3 : 4 : 5, then

find the ratio of total Indians in the Gulf over all the given years from 2018 to 2022.
23:27:21:22:20

(. 91-95) : ST HT LY LT i 7 A= few M0 y97 o IR

TfeTehT Ueh GG G Sl 715 g3t 3T 3eh! hIFd! 3R SATH i G 2 |

(Q. 91-95) : Study the data carefully and answer the questions given below :
The table shows the items sold by a shopkeeper and their prices and profit.

91.

TGY | AT/ | A%/ w2/

Item Cost Price | Profit% | Discount
S7/Bag 230 10% 48
W3/Shirt 320 15% 96
=I%H/Eye- 200 | 25% | 35
Glasses
T2/Pant 450 12% 72
g&ish/Book 140 20% 14

TRTA 138, 2 o7 3R 1 ¥ @la 3R ghMeR A 3ifehd Iod W 5% SAfih e &, ThHGR
T STHTA HeT T T HITT |

Sneha purchased 1 Shirt, 2 Bags and 1 Pant and shopkeeper gave 5% additional discount on
the marked price, find the approximate total profit of the shopkeeper.

65.9
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92.

=98 1 3Tehd Hod J&ieh o 3Tfohd oI & ST fehaHT Hfeerd 1feh & 7

Marked price of Eye-glass is approximately how much percent more than the marked
price of Book ?
56.59%

93.

I IS 1 ARTA Yo W< o AN Ged 8 30% 3 & 3T GHMER 35% BT Goht 25%
1fd T T8 B, A1 3ifehd To T B 7

If'the cost price of the Ring is 30% more than the cost price of Shirt and the shopkeeper wants

to earn 25% after giving 35% discount so what will be the marked price ?
T 800

94.

THMGR - Th UTEeh i 2 WL, 3 =eH, 2 e 31 1 fopare sl | IHehT AT 3ited amv
FATE ?
The shopkeeper sold 2 Shirts, 3 Eye-glasses, 2 Pants and 1 Book to a customer. What is his

approximate average profit ?
3 47.75

9s.

MG R o=l T A H fefefTel W e Tfererd sh1 S1UTd 1 ?
What is the ratio of the discount percent of the Eye-glasses and Book sold by
shopkeeper ?

91:57

d.
21 T 3T IR 3ATEI P, Q, R 3 S W fomm = (X wUs o) i cifar 8 | (o = foht —
fog =)

(Q. 96-100) : The questions are based on the following table chart which represents the

advertisement expenditure (in % crores) of a trading company from 2015-16 to 2020-21 on
four of its products P, Q, R and S. (Profit = Sales — Advertising expenditure)

96-100) : T3 F=faIRaa arfetst T¢ WX 3Menfid & ST Ueh feT U+l & 2015-16 & 2020-

99/ Year P Q R S

2015-16 50 75 50 25

2016-17 25 75 50 25

2017-18 50 50 75 25

2018-19 75 25 0 25

2019-20 50 75 50 50

2020-21 75 50 100 25

feu e i o fotu forshl 50 w2 -

Sales for given years are as follows :
2015-16 % 300 LS / crores
2016-17 3 45035’3_6,' / crores
2017-18 3 SOOEFﬁ's,’ / crores
2018-19 3 ISOEFﬁ's_’/crores
2019-20 3 600353'5,’ / crores
2020-21 % 700 UL / crores
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96.

foher o | 3cTg, Q T oY T 311ereh B, Afe Seehl forshl &t et et Tkl <1 20% 3 2

In which year the product Q’s profit is the highest, if its sales form 20% of the total
sales every year ?
2020-21

97.

feu U st A, Icq1e S 1 faToH =9 P 3R R 6 et fasio = & ufasd & w9 6
fraaddoeag sy g ?

Among the given years, the advertising expenditure of product S as a percentage of the
advertising expenditure of P and R together is least in

2020-21

98.

Ifg I 2020-21 H 341G P, Q, R 3T S <l forshl s 3 2: 50 1: 2 8, ' S ol ot 3 Iy
Q 1 T AT foheT i B 2

If the ratio of sales of the products P, Q, R and S in the year 2020-21 is 2 : 5: 1 : 2, then
the profit of S is approximately what percentage of the profit of Q in the same year ?

38.33%

99.

2021-22 T sHut <t farsht 30% =12 718 | 2021-22 % fotw ot fersmom @< 3¢t w & w7¢, o
T 2019-20 & 2020-21 T Hl 9794 @ §1¢ A | 2021-22 o fotw srgmmfaa e =
87

3 212.225 08

In 2021-22, the sales of the company decreases by 30%. Total advertising expenses for 2021-
22 grow at the same rate as they did from the total advertising expenses 2019-20 to 2020-21.
What is the approximate profit for 2021-22 ?

T 212.225 crores

100.

Ife av 2016-17 T Tt Icargr = ot Tz == 3mem & ST 2 3™ 2020-21 ° ST &
AT 8 37T A= a1 o foI¢ I8 THH & 7, a1 fordt 9 o SR o9 el 3Afoeh © 7

If the advertising expenditure for all the products in the year 2016-17 is halved and that in
2020-21 is doubled and for the other years it remains the same, then during which year the
profit is the highest ?

2019-20
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